FEFl LHBRFERMLIREENE

RIEME (1 Sv. h)

BEMENE (1 Sv. h)

I = okl

MEEAR WEWH AESF  BEKE KR | #Eim  sEsom ks |00 H2TI0 C HERO
1 EERHOK Bk 2016/10/18  14:05 KigHT | FRI7ILE = 0.04 0.05 0.05 0.07 0.05 0.03
2 FREK BKiHh 2016/10/18  13:35 KA N = 0.03 0.02 0.03 0.03 0.02 0.03
3 BhsEDEK Bk 2016/10/18  8:45 JKIZHT XRA = 0.06 0.06 0.06 0.06 0.05 0.04
4 FOEVDR Bk 2016/10/18 9:00 Kigal | FRI7ILE =) 0.04 0.05 0.04 0.06 0.05 0.04
5 ESHLDR Bk 2016/10/18  9:10 JKIZHT * T 0.03 0.03 0.03 0.04 0.03 0.03
6 EMDR Bk 2016/10/18 9:30 Kigal | FRI7ILE g 0.04 0.03 0.04 0.05 0.03 0.04
7 =D E 7K Bk 2016/10/18  9:25 JKIZRT T T 0.03 0.03 0.02 0.03 0.04 0.03
8 =EEIEK Bk 2016/10/18 9:55 Kigal | FRI7ILE g 0.04 0.04 0.04 0.04 0.03 0.03
9 BEOR Bk 2016/10/18  10:50 KigET | arsu—k = 0.02 0.03 0.03 0.03 0.02 0.02
10 BHOR Bkt 2016/10/18  10:15 KBHT  avy)—bk £ 0.03 0.03 0.03 0.03 0.02 0.03
11 MEFs=EE Bk 2016/10/18 835 &K AT * g 0.02 0.02 0.04 0.05 0.03 0.02
12 <FTIOR D 2016/10/18  11:10 BAE:L] + £ 0.02 0.02 0.03 0.02 0.03 0.02
13 1RKEE ZDfth 2016/10/18  13:20 BE R = 0.04 0.04 0.03 0.03 0.02 0.03




